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F=1F ik 72 Seft fifi ESE fiik
T Bk 04 = L-2000%"Z ix ¥1,000 JPY P ACE 047> L-20004 5 L ¥1,300 JPY e Bs 0472 L-20007 3 L ¥1,400 JPY
HRACE 200147 7 L-50007 = Ln ¥ 1,300 JPY AP ACE 20014 5 L-50004 5 La ¥1,600 JPY W Aok 20017 2 L-50007 Ly ¥1,700 JPY
¥ Ao 50014 % 4A-10000%" 3 L ¥1,700 JPY e he L e 500145 L-10000%"Z Ln ¥ 2,000 JPY Gk e 500177 £4-10000% Z I ¥ 2,000 JPY
M ACX 1000145 L4-200007" 5 I ¥ 2,200 JPY e ficix 100017 5 L4=200004 5 Ln ¥ 2 500 JPY K i 1000145 LL-200004" 5 Ln ¥ 2,500 JPY
P e 2000145 Ln-300004" 5 A ¥ 2,400 JPY A= 2000173 1A-300004'3 L ¥2 600 JPY W ACs 200014 % Li-300004 3 L ¥ 2,800 JPY
PGk e 300014 2 L4-500004"Z A ¥ 3,500 JPY P e 30001435 45000073 Ly ¥ 3,800 JPY e ACis 300014 % L4-500004" 3 L ¥ 4,300 JPY
R ACIE 500017 7 ALk ¥ 8,500 JPY PGk e 500017 Z AL - ¥ 9,500 JPY W Ao 500017 Z LB E ¥12,000 JPY
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F 14 fifitE BlEDRET =St ik =1 S iz
B RS 50145 L-2000%"5 L ¥ 900 JPY i s 0472 L-2000%" 3 Ly ¥1,000 JPY EitE 075 15-20007' 5 I ¥ 900 JPY
3 T A 200175 L-50007"Z L ¥1,200 JPY P Gik] s 20017 5 L-50007 5 L ¥1,300 JPY A 200175 L-50004"Z L ¥ 1,200 JPY
A AriE 50017 2 L-100007"Z 4 ¥1,500 JPY PGik] s 50014 7 L-10000% 2 4 ¥1,700 JPY T A 500142 A-10000% 7 L ¥ 1,500 JPY
T Beis 100017 5 AA=-200007" 5 Aa ¥ 2,000 JPY k] TS 100014 = L-20000% = L ¥ 2,200 JPY B 100017 5 L5-2000047 5 L ¥ 2 000 JPY
AP ACIE 200014 = L-30000% 5 L ¥ 2,300 JPY B A 200014 5 L4=300007 5 L ¥ 2,500 JPY oy T 2000145 L-300004 5 L ¥ 2,300 JRPY
s (s 300014 = L-50000% 5 L ¥ 2,700 JPY B A 300014 < L=-500007 = L ¥ 4,000 JPY i A= 300014 5 L-50000%7 5 L ¥ 3,500 JPY
i S 500017 5 ALLL ¥6,500 JPY B A% 500017 Z.LLLE ¥10,000 JPY AL 500017 3 LB E ¥ 8,500 JPY
T ACIE 045 L-5004"3 L ¥ 400 JPY
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W ACE 072 1h-200047 5 £ ¥1,500 JPY PR 04 = L-20004"5 L ¥1,500 JPY
X 20017 5 Ls-50007"5 Ly ¥1,700 JPY EPACE 200145 L-50004"5 I ¥1,700 JPY
EE A 5001475 LH-1000047 5 L ¥ 2,000 JPY P ACE 50014 = L-10000%" 3 A ¥ 2,000 JPY
A 100015 5 L=20000 5 5 L ¥ 2,500 JPY W R Acix 10001%4"5 4-200004" 5 Ln ¥ 2 500 JPY
MR BCIE 200014 % Li-30000%" 3 L ¥ 2,800 JPY A BCik 2000145 L-300007" 5 L ¥ 2,800 JPY
e BCIE 30001%'% Lx-50000%4" 3 L ¥ 6,000 JPY ALk 3000145 Ls-500007" 5 L ¥ 6,000 JPY
R ACE 500017 Z Ll E ¥10,000 JPY Bt 500017 Z LLLE ¥12,000 JPY



